

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007

Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

## **WORK ORDER**

WO No.

199

SHIP TO:

WO Date:

02/02/2023

NEPTUNE REALTY PVT. LTD.

Contractor Name

APEX FIRE CONTROL

NEPTUNE TRION EXP

Address:

FF-104, BANSIDHAR COMPLEX, OPP,

NEPTUNE CAMPUS,

POLOGROUND, NEAR LAD BHAWAN,

NR. ATLANTIS HEIGHTS,

VADODARA -390001.

GORWA ROAD, VADODARA

Contact No

WO Title

PAN:

EXTRA WORK DONE AT SITE FOR FIRE

INSTALLATION

GST:

24AAWPT0006H2ZN

GST No:

24AAACN9837D1ZI

Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work

as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	6
1	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	CHARGES FOR 80MM Vane Type Water flow	45.00	NOS	72.00	3240.00	18	%
	Alarm Switch						
Spc.	EXTRA WORK DONE AT SITE						
2	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	CHARGES FOR M.S. STRUCTURAL WORK (KG)	2,500.00	KG	17.00	42500.00	18	%
Spc.	EXTRA WORK DONE AT SITE						
3	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	INSPECTION & TESTING ASSEMBLY FOR	45.00	NOS	385.00	17325.00	18	%
	SPRINKLER DRAIN SYSTEM						
Spc.	EXTRA WORK DONE AT SITE						
4	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOE ROSETTE PLATES	467.00	NOS	20.00	9340.00	18	%
Spc.	EXTRA WORK DONE AT SITE						
5	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 100 mm dia. G I HEAVY " C	283.00	RMT	308.00	87164.00	18	%
	class" pipe		<u> </u>	-		<u> </u>	
Spc.	EXTRA WORK DONE AT SITE						

6	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 100MM DIA Cast Iron Sluice	5.00	NOS	385.00	1925.00	18	
	Valve (IS 14846)						
Spc.	EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						
8	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 100MM DIA Butterfly valve	10.00	NOS	385.00	3850.00	18	
	(Wafer Type) (NOS)						
Spc.	EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						
10	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 100MM Dual plate check valve	3.00	NOS	385.00	1155.00	18	
Spc.	(Wafer Type) EXTRA WORK DONE AT SITE						
11	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)  LABOR FOR 150 mm dia, G   HEAVY " C	385.00	RMT	462.00	177870.00	18	
	class" pipe	383.00	NW I	402.00	177870.00	10	_
Spc.	EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						
13	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 25MM DIA Forged Brass Air	10.00	NOS	144.00	1440.00	18	
Snc	Release Valve						
spc.	EXTRA WORK DONE AT SITE						
14	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 25MM DIA Forged Brass Ball	16.00	NOS	72.00	1152.00	18	
Spc.	valves EXTRA WORK DONE AT SITE						
15	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
IJ	LABOR FOR 32 mm dia. G I HEAVY "C	1,851.00	RMT	99.00	183249.00	18	
	class" pipe  EXTRA WORK DONE AT SITE	1,001.00	LYA/ I	77.00	103247.00	18	_

Spc.	EXTRA WORK DONE AT SITE						
17	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 40MM DIA Forged Brass Ball valves	208.00	NOS	115.00	23920.00	18	%
Spc.							
18	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 50 mm dia. G I HEAVY " C	1,610.00	RMT	154.00	247940.00	18	%
Spc.	class" pipe EXTRA WORK DONE AT SITE						
19	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 50MM DIA Butterfly valve	10.00	NOS	200.00	2000.00	18	%
Spc.	(Wafer Type) EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						
22	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 65MM DIA Butterfly valve	100.00	NOS	241.00	24100.00	18	%
Spc.	(Wafer Type) EXTRA WORK DONE AT SITE						
23	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 80 mm dia. G I HEAVY " C	1,850.00	RMT	231.00	427350.00	18	%
Spc.	class" pipe EXTRA WORK DONE AT SITE						
24	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 80MM DIA Butterfly valve	42.00	NOS	289.00	12138.00	18	%
Spc.	(Wafer Type) EXTRA WORK DONE AT SITE						

	have pleasure in placing with you our Work order for the er the instruction given by our site incharge.	e following cont	ract kindly e	execute the work			
26	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR Fire Extinguishers - CO2 (4.5kg)	52.00	NOS	48.00	2496.00	18	9
Spc.	EXTRA WORK DONE AT SITE						
27	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR Fire Extinguishers 4kgs OR 6kgs	52.00	NOS	48.00	2496.00	18	%
Spc.	EXTRA WORK DONE AT SITE						
28	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR Fire hose cabinet with	45.00	EACH	96.00	4320.00	18	9
Spc.	accessories EXTRA WORK DONE AT SITE						
29	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR first aid Fire Hose Reel with	45.00	NOS	192.00	8640.00	18	%
Spc.	accessories EXTRA WORK DONE AT SITE						
30	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR non percolating flexible Hose	90.00	NOS	48.00	4320.00	18	%
Spc.	EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						
32	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR Pressure Gauge 100 mm dial & range of 0-20KG/CM2	45.00	NOS	144.00	6480.00	18	%
Spc.	EXTRA WORK DONE AT SITE						
33	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)	45.00	NOS	1828.56	82285.20	10	O
Spc.	(NOS)  EXTRA WORK DONE AT SITE	45.00	NUS	1828.36	82285.20	18	%
34	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)	200.00	NOC	40.00	2000.00	40	^
	LABOR FOR SIDE WALL SPRINKLER HEADS (NOS)	200.00	NOS	19.00	3800.00	18	9
Spc.	EXTRA WORK DONE AT SITE						
Spc.	EXTRA WORK DONE AT SITE						

36	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
30		45.00	NOS	120.00	5400.00	10	
	Single headed oblique pattern hydrant landing valve	45.00	NUS	120,00	5400.00	18	
Spc.	EXTRA WORK DONE AT SITE						
	EXTRA WORK BOILE AT SITE						
37	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 25 mm dia. G I HEAVY "C	5,125.00	RMT	77.00	394625.00	18	
	class" pipe						
Spc.	LABOR FOR 25 mm dia. G I HEAVY " C class"						
	pipe						
38	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 40 mm dia. G I HEAVY "C	1,884.00	RMT	125.00	235500.00	18	
	class" pipe						
Spc.							
	pipe						
39	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR 65 mm dia. G I HEAVY "C	30.00	RMT	202.00	6060.00	18	
_	class" pipe						
Spc.	LABOR FOR 65 mm dia. G I HEAVY " C class"						
	pipe						
40	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR Pendent sprinkler 57 oC TO 77	2,780.00	NOS	19.00	52820.00	18	
_	оС						
spc.	LABOR FOR Pendent sprinkler 57 oC TO 77 oC						
41	FIRE FIGHTING (3RD FLOOR TO ALL FLOOR)						
	LABOR FOR Stainless steel corrugated	467.00	NOS	120.00	56040.00	18	
	flexible pipe(hose)						_
Spc.	LABOR FOR Stainless steel corrugated flexible						
	pipe(hose)						

2132940.20	Contract Amount (A)
383929.24	Total GST (B)
2516869.44	Total (A + B )

Terms & Conditions

## SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- $\pmb{6} )$  Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

- $^{\star}$  All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- $^*\ Please\ submit\ your\ Bill/invoice\ along\ with\ delivery\ challan\ and\ PO\ copy\ in\ favour\ of\ Neptune\ Realty\ Pvt.\ Ltd.$

At project site office officialy.

- \* Biling amount should not exceed the rate and total value mentioned in this WO.
- \* Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.
Authorized Signatory